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Third Year 

SCIENCE AND CIVILIZATION 

Time : One and half hours Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Explain in detail about Neolithic age of metals. 

 ÌZàË Äñý¬MæüP °Äñý*Í¤MŠü Ä¶ý¬Væü… Væü$Ç…_ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

2. Give an account on the significance discoveries in medical field during 20th 

Century. 

 20 Ð@þ Ô¶ý™éºªÐ@þ¬ÌZ  OÐðþ§æþÅÆæÿ…Væü…ÌZ Væü$Ç¢…ç³§æþW @̄þ Ð@þ¬QÅOÐðþ$¯@þ BÑçÙPÆæÿ×ýËOò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ 
{ÐéÄ¶ý¬Ð@þ¬. 

3. Describe the importance of Mathematics. 

 Væü×ìý™èþÐ@þ¬ Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

4. Give an account on the invention of Steam engine. 

 BÑÇ C…h Œ̄þ Äñý¬MæüP BÑçÙPÆæÿ×ýOò³ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

5. Explain the Non conventional energy source with example. 

 Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢Ð@þ @̄þÆæÿ$Ë @̄þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ$Ð@þ¬. 

6. Explain about biological killers. 

 iÐ@þ MìüËÏÆŠÿË Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 SECTION B — (3 × 4 = 12 marks) 

 Answer any THREE questions. 

7. (a) Insulin  

  C @̄þ$ÞÍ¯Œþ  

 (b) Computer 

  Mæü…ç³NÅrÆŠÿ 

 (c) Teleprinter  

  sñýÍ{í³…rÆŠÿ 

 (d) DDT 

  yìþ.yìþ.sìý 



  

   

   

 (e) Atomic power 

  A×ý$Ô¶ýMìü¢ 

 (f) Solar energy 

  ÝûÆæÿÔ¶ýMìü¢ 

 (g) Security  

  ¿¶ý{§æþ™èþ 

 (h) Iron 

  C @̄þ$Ð@þ¬ 

 (i) Satellite 

  Eç³“VæüçßýÐ@þ¬ 

 SECTION C — (3 × 4 = 12 marks) 

 Answer ALL questions. 

8. Fill in the blanks :- 

 (a) _____ invented pencillin. 

  _____ - -ò³°ÞÍ Œ̄þ @̄þ$ GÐ@þÆæÿ$ Mæü @̄þ$Vö¯é²Ææÿ$? 

 (b) Fertilizers are used in _____. 

  GÆæÿ$Ð@þ#Ë$ GMæüPyæþ Ðéyæþ$™éÆæÿ$ _____. 

 (c) ILO means _____. 

  I.GÌŒý.K A @̄þV> ó̄þÑ$ _____. 

 (d) Radium therapy is for _____. 

  ÆóÿyìþÄ¶ý$… _Mìü™èþÞ _____ MøçÜ… 

9. Choose the correct answer :- 

 (a) Blue baby syndrome is due to  

  º*Ï »ôý¼ íÜ…{yøÐŒþ$ §óþ° Ð@þË @̄þ Ð@þçÜ$¢…¨  

  (i) Mercury (iii) Lead 
   ´ë§æþÆæÿçÜÐ@þ¬  ïÜçÜÐ@þ¬ 

  (ii) Nitrates (iv) Phosphates 
   Ō ðþ{sôýsŒýË$   ¸ëõÜµr$Ï 

 (b) Radio was invented by 

  ÆóÿyìþÄñý* @̄þ$ GÐ@þÆæÿ$ Mæü°ò³sìýtÇ? 

  (i) Thomas (iii) Biard 
   £øÐ@þ$‹Ü  »ñýÆæÿ$z 



  

   

   

  (ii) Johane Gutenberg (iv) Gulimo Marconi 
   gê Œ̄þ Væü$sñý Œ̄þºÆŠÿY  Væü$ÍÐðþ* Ð@þ*ÆöP° 

 (c) Pesticides are used 

  ç³#Ææÿ$Væü$Ë Ð@þ$…§æþ$Ë$ §óþ°Mìü Eç³Äñý*WÝë¢Ææÿ$? 

  (i) to increase production (iii) To stop floods 
   E™èþµ†¢° ò³… è̂þyé°Mìü  Ð@þÆæÿ§æþË$ Bç³yé°Mìü  

  (ii) To kill insects (iv) To bring rain 
   MîürM>Ë @̄þ$ è̂þ…ç³yé°Mìü  Ð@þÆæÿÛ… MöÆæÿMæü$ 

 (d) Geothermal energy 

  ¿¶ý* EçÙ~Ô¶ýMìü¢ 

  (i) Conventional energy (iii) Non conventional energy 
   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢  Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

  (ii) Chemical energy (iv) Atomic energy 
   ÆæÿÝëÄ¶ý$ @̄þ Ô¶ýMìü¢  A×ý$Ô¶ýMìü¢ 

10. Match the following. 

 (a) H2SO4  (i) Communication 
  H2SO4   ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

 (b) Television  (ii) Conventional energy 
  sñýÍÑf Œ̄þ   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢ 

 (c) Wind energy (iii) Acid rains 
  V>ÍÔ¶ýMìü¢   BÐ@þ$ÏÐ@þÆ>ÛË$ 

 (d) Electricity  (iv) Non Conventional energy 
  Ñ§æþ$Å è̂þeMìü¢   Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

———————— 
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B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Mathematics  

Paper III –  RINGS AND LINEAR ALGEBRA 

Time : Three hours Maximum : 70 marks 

SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, Each question carries 3 marks. 

1. Explain about Cancellation law in a ring R  

 Ð@þËÄ¶ý$Ð@þ¬ R ÌZ MösìýtÐóþ™èþ ¯éÅÄ¶ý$Ð@þ¬ è̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

2. Show that a field has no Zero divisors. 

 „óü{™èþÐ@þ¬ Ô¶ý* @̄þÅ¿êfMæü Ææÿ íßý™èþÐ@þ$° è̂þ*ç³#Ð@þ¬. 

3. Show that every field is an integral domain.  

 {ç³† „óü{™èþÐ@þ¬ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ$° è̂þ*ç³#Ð@þ¬. 

4. Show that the homomorphic image of a Commutative ring is a Commutative ring. 

 JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý*°Mìü çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬, JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

5. Define Linear Span. Prove that L(S) is a subspace of V(F). 

 º¬k Ñ™èþí³¢° °ÆæÿÓ_…_, çÜ¨Ô>…™èþÆ>â¶ý… V(F) Mæü$ L(S) JMæü E´ë…™èþÆ>â¶ý… A° °Ææÿ*í³… è̂þ…yìþ. 

6. Determine whether or not the following vectors form a basis of �� (1,1,2), (1,2,5), (5,3,4). 

 �� ÌZ (1,1,2), (1,2,5), (5,3,4) çÜ¨Ô¶ýË$ B«§éÆ>°² HÆæÿµÆæÿ è̂þ$¯ø Ìôý§ø Mæü¯@þ$MøP…yìþ. 

7. Derive Rank and Nullity of T 

 ç³ÇÐ@þÆæÿ¢̄ é Møsìý Ð@þ$ÇÄ¶ý¬ ç³ÇÐ@þÆæÿ¢̄ é Ô¶ý* @̄þÅ™èþ T @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 

8. Prove that the two matrices � and ����� have the same characteristic roots. 

 Æðÿ…yæþ$ Ð@þ*{†Mæü �, ����� Ë$ JMóü Ìê„ìü×ìýMæü Ð@þÊÌêË @̄þ$ MæüÍW E…sêÄ¶ý$° è̂þ*ç³…yìþ. 

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries 11½ marks. 

9. (a) (i) Show that a finite integral domain is a field. 

  (ii) Show that the intersection of two sub-rings of a ring R is a sub-ring of R. 

  (i) ç³ÇÑ$™èþ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ¬, JMæü „óü{™èþÐ@þ$Væü$ @̄þ° è̂þ*ç³#Ð@þ¬. 
  (ii) Ð@þËÄ¶ý$Ð@þ¬ R Mìü Æðÿ…yæþ$ Eç³Ð@þËÄ¶ý*Ë bóþ§æþ @̄þÐ@þ¬ R Mìü Eç³Ð@þËÄ¶ý$Ð@þ$Væü$ @̄þ$ @̄þ° è̂þ*ç³#Ð@þ¬. 

 Or 



     

   

 (b) (i) Define Kernal of a homomorphism on rings. 

  (ii) If R is a commutative ring with unit element and M is an ideal of R, then M is a 

maximal ideal of R iff R/M is a field. 

  (i) Ð@þËÄ¶ý$çÜÐ@þ$Ææÿ*ç³™èþ MðüÆæÿ²ÌŒý (A…™èþçÜ¦Ð@þ¬) @̄þ$ °ÆæÿÓ_… è̂þ$Ð@þ¬. 
  (ii) Ä¶ýÊ°sŒý Ð@þÊËMæüÐ@þ¬ MæüÍYÄ¶ý¬…yìþ Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ¬ R Ð@þ$ÇÄ¶ý¬ M IyìþÄ¶ý$ÌŒý R Mìü M A«̈ Mæü™èþÐ@þ$   
   IyìþÄ¶ý$ÌŒý AVæü$rMæü$ BÐ@þÔ¶ýÅMæü, ç³Æ>Åç³¢ °Ä¶ý$Ð@þ$Ð@þ¬ R/M  JMæü „óü{™èþÐ@þ¬. 

10. (a) (i) Prove that a set of vectors which contains the zero vector � is linearly dependent. 

  (ii) Prove that a system consisting of a single non-zero vector is always linearly 

independent. 

  (i) Ô¶ý* @̄þÅçÜ¨Ô¶ý � Ð@þÊËMæüÐ@þ¬V> MæüÍW @̄þ {ç³† çÜ¨Ô> çÜÑ$† º¬kç³Æ>«©¯@þÐèþ$° è̂þ*ç³…yìþ. 
  (ii) JMóü JMæü Ô¶ý* ó̄þÅ™èþÆæÿ çÜ¨Ô¶ý Ææÿ$kÝëÓ™èþ…{™èþÅ çÜÑ$†° HÆæÿµÆæÿ$ è̂þ$ @̄þ° è̂þ*ç³…yìþ. 

 Or 

 (b) If w be a subspace of finite dimensional vector space V(F), then prove that dim�

�� =

dim� − dim� 

  ç³ÇÑ$† ç³ÇÐ@þ*×ý çÜ¨Ô>…™èþÆ>âê°Mìü V(F) E´ë…™èþÆ>â¶ýÐ@þ¬ AÆÿ¬™óþ dim�

�� = dim� − dim�   

  A° è̂þ*ç³…yìþ. 

11. (a) (i) Find the characteristic equation of the matrix � = � 2 −1 1−1 2 −11 −1 2 � and verify that 

it is satisfied by A. 

  (ii) Find ��� if � = �3 1 12 4 21 1 3� 

  (i) � = � 2 −1 1−1 2 −11 −1 2 �	 Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬ @̄þ$ Mæü @̄þ$MøP…yìþ. D Ìê„æü×ìýMæü   

   çÜÒ$MæüÆæÿ×ýÐ@þ¬ A çÜ…™èþ–í³¢ ç³Ææÿ$çÜ$¢…§æþ° è̂þ*ç³…yìþ.  

  (ii) � = �3 1 12 4 21 1 3�  AÆÿ¬™óþ ���   ° Mæü¯@þ$MøP…yìþ. 

 Or 

 (b) (i) Find the rank of the matrix � = �1 3 2 12 4 5 34 6 6 12� 
  (ii) State and prove Cayley-Hamilton theorem. 

  (i) � = �1 3 2 12 4 5 34 6 6 12�   Ð@þ*{†Mæü Äñý¬MæüP Møsìý° Mæü @̄þ$MøPyìþ. 

  (ii) MðüÎ & õßýÑ$Ët̄ Œþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 



     

   

12. (a) (i) State and prove Cauchy-Schwarz's inequality theorem. 

  (ii) If � = {�2,1,3�, �1,2,3�, �1,1,1�} is a basis of ��, construct an orthogonal basis. 

  (i) MöíÙ & ÚëÓÆŠÿj AçÜÐ@þ* @̄þ™èþ íÜ§é®…™èþÐ@þ¬¯@þ$ {ÐéíÜ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii) �� @̄þMæü$ � = {�2,1,3�, �1,2,3�, �1,1,1�} JMæü B«§éÆæÿÐ@þ$Æÿ¬™óþ JMæü Ë…»êÀË…º B«§éÆ>°² °ÇÃ… è̂þ…yìþ. 

 Or 

 (b) (i) State and prove Bessel's Inequality. 

  (ii) Find a unit vector orthogonal to (4,2,3) in R3 interval. 

  (i) »ñýçÜÞÌŒýÞ AçÜÐ@þ* @̄þ™èþ @̄þ$ {ÐéíÜ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii) R3 A…™èþÆ>â¶ý…ÌZ (4,2,3) çÜ¨Ô¶ýMæü$ Ë…º…V> E…yóþ Ä¶ýÊ°sŒý çÜ¨Ô¶ý @̄þ$ Mæü @̄þ$MøP…yìþ. 

———————— 
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Paper — IV : NUMERICAL ANALYSIS 
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SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, each question carries equal marks. 

1. Construct finite forward difference table for the function � = ��. 

 � = ��  { ç³Ðóþ$Ä¶ý*°Mìü ç³ÇÑ$™èþ ç³#ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ °ÇÃ… è̂þ…yìþ.  

2. (a) Define averaging operator �. 

 (b) Define Shift operator. 

 (a) Averaging Operator � @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 
 (b) Shift operator @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 

3. Evaluate (a) ∆� sin(�� + �) (b) ∆(�����) 

 (a) ∆� sin(�� + �) (b) ∆(�����)	Ë ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ. 

4. Find the missing term in the following data 

x 0 1 2 3 4 

y 1 3 9 - 81 

 D“Mìü…¨ ç³sìýtMæüÌZ° ÌZí³…_¯@þ RêäË @̄þ$ Mæü @̄þ$MøP…yìþ. 
x 0 1 2 3 4 

y 1 3 9 - 81 

5. Explain Iteration method 

 C{sìýçÙ Œ̄þ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

6. Write Evertt's formula 

 GÐ@þÆŠÿtÞ çÜ*{™é°² {ÐéÄ¶ý$…yìþ. 

7. Explain simpson's ⅜th rule 

 íÜ…ç³Þ Œ̄þÞ ⅜th rule @̄þ$ ÑÐ@þÇ…_…yìþ. 

8. Explain Matrix inverse method. 

 Ð@þ*{†M> ÑÌZÐ@þ$ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 



     

   

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries equal marks. 

9. (a) (i) State and prove Newton's Forward interpolation formula. 

  (ii) If �� = 1,�� = 0, �� = 5,�� = 22,�� = 57.	Find ��. . 

  (i) @̄þ*r Œ̄þÞ ç³#ÆøVæüÐ@þ$¯@þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
  (ii) �� = 1, �� = 0, �� = 5, �� = 22,�� = 57	AÆÿ¬™óþ ��.  ÑË$Ð@þ @̄þ$ Mæü @̄þ$MøP…yìþ. 

 Or 

 (b) (i) State and prove Lagranses interpolation formula. 

  (ii) Using divided difference table, find !(�), which takes the values 1, 4, 40, 85 at 
� = 0, 1, 3, 4. 

 (i) Ìñý“V>…gŒý A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
 (ii) � = 0,1, 3, 4		Ð@þ§æþª !(�) = 1, 4, 40, 85 AÆÿ¬™óþ Ñ¿êh™èþ Ð@þÅ™éÅçÜ (difference) ç³sìýtMæü §éÓÆ>  
   !(�), @̄þ$ Mæü @̄þ$MøP…yìþ. 

10. (a) State and prove Gauss Forward Interpolation formula. 

  Vú‹Ü ç³#ÆøVæüÐ@þ$ @̄þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

 Or 

 (b) (i) Use stirling formula to find �� , given �� = 5225, �% = 4316, ��� = 3256, ��� = 1926, 
��� = 306. 

  (ii) Find the value of �� , using Bessle's formula if ��� = 2854, ��� = 3162, ��( = 3544,
��� = 3992. 

  (i) �� = 5225, �% = 4316, ��� = 3256, ��� = 1926, ��� = 306 AÆÿ¬ @̄þç³šyæþ$ òÜtÇÏ…VŠü çÜ*{™é°²   
   Eç³Äñý*W…_  �� ÑË$Ð@þ @̄þ$ Mæü¯@þ$MøP…yìþ. 
  (ii) ��� = 2854, ��� = 3162, ��( = 3544, ��� = 3992  AÆÿ¬™óþ »ñýòÜÌŒýÞ çÜ*{™é°² Eç³Äñý*W…_ 
   ��  ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 

11. (a) Using Romberg's integration, Calculate )
�

*+, �
-�

½
�  correct to 4 decimal places. 

  Æ>…ºÆŠÿY çÜÐ@þ*MæüË°  ) �

*+, �
-�

½
�  ° 4 decimal Ýë¦̄ éËÌZ Calculate ó̂þÄ¶ý$…yìþ. 

 Or 

 (b) Evaluate ) √1 + ��
�
� -� using Simpson's ⅜th rule. 

  ) √1 + ��
�
� -� @̄þ$ íÜ…ç³Þ Œ̄þÞ  ⅜th rule §éÓÆ> Mæü @̄þ$MøP…yìþ. 

12. (a) (i) Find root of the equation �� − � − 1 = 0 by Bisection method. 

  (ii) Find a real root of � = �1� by iteration method. 

  (i) Bisection ç³§æþ®† §éÓÆ> �� − � − 1 = 0 çÜÒ$MæüÆæÿ×ýMæü$ JMæü ÐéçÜ¢Ð@þ Ð@þÆæÿY… Mæü @̄þ$MøP…yìþ. 
 (ii) C{sñýçÙ Œ̄þ ç³§æþ®† §éÓÆ> � = �1� ¯@þMæü$ JMæü ÐéçÜ¢Ð@  Ð@þÆ>Y°² Mæü @̄þ$Vö¯@þ$Ð@þ¬. 

 Or 



     

   

 (b) Solve the following equations by Gauss-Sidel method. 

   10�� − 2�� − �� − �� = 3 

   −2�� + 10�� − �� − �� = 15 

   −�� − �� + 10�� − 2�� = 15 

   −�� − �� − 2�� + 10�� = −9. 

   (Correct to 3 decimal places). 

  D“Mìü…¨ çÜÒ$MæüÆæÿ×êË @̄þ$ Vú‹Ü & íÜyðþÌŒý ç³§æþ®† §éÓÆ> Ýë«̈ … è̂þ…yìþ. 

   10�� − 2�� − �� − �� = 3 

   −2�� + 10�� − �� − �� = 15 

   −�� − �� + 10�� − 2�� = 15 

   −�� − �� − 2�� + 10�� = −9. 

   (Correct to 3 decimal places). 

———————— 
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 A, B Ñ¿êV>ËÌZ {ç³†¿êVæü… @̄þ$…yìþ Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ ™èþMæü$PÐ@þM>Mæü$…yé I§æþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éË$ 
Æ>Ä¶ý*Í. 10 Ð@þ {ç³Ô¶ý²Mæü$ ™èþç³µ°çÜÇV> çÜÐ@þ*«§é @̄þ… Æ>Ä¶ý*Í.   (5 × 14 = 70) 

Ñ¿êVæü… — A 

1. “Mìü…¨ çÜ*{™éËÌZ ¯éÍY…sìýMìü Ýù§éçßýÆæÿ×ý ÐéÅQÅË$ Æ>Ä¶ý$…yìþ. 

  (a) {«§æþ$™èþ {ç³Mæü–†MæüÐ@þ¬Ë$ M>° Ô¶ýºªÐ@þ¬Ë$ Mæüâ¶ýË @̄þ…ºyæþ$. 

  (b) Ë„æü×ý ÑÆæÿ$§æþ®…ºVæü$ ¿êçÙ “V>Ð@þ$Å…º$. 

 (c) {ç³£æþÐóþ$™èþÆæÿ Ñ¿¶ýMìü¢ Ô¶ý{™èþÆæÿ¦ è̂þ$Ð@þÆæÿ~…º$Ë…§æþ$ @̄þ² Ä¶ý¬ M>ÆæÿÐ@þ¬ @̄þMæü$ çÜ…«̈  OÐðþMæüÍµMæüÐ@þ¬V> @̄þVæü$. 

 (d) Mæü$‚ý$, _‚ý$, Mæüyæþ$, @̄þyæþ$, °yæþ$ Ô¶ýºªÐ@þ¬Ë ÆæÿyæþË Mæü è̂þ$aç³Ææÿ…ºVæü$ @̄þç³šyæþ$ ¨ÓÆæÿ$Mæü¢ rM>Ææÿ…ºVæü$. 

 (e) ™èþ–¡Ä¶ý*§æþ$ËMæü$ ¯@þ$V>VæüÐ@þ$…ºVæü$. 

 (f) ïÜ̂†ÆæÿÅVæüjyæþ À @̄þ²…º$Ë¯@þ$ Ðé° ÑÔóýçÙ×ý…º$Ë @̄þ$ Ð@þ$çßý™èþ$¢Ë @̄þ…ºyæþ$. 

 (g) ºÍÏ§é§æþ$Ë$ çÜ…çÜP –™èþ ™èþ$ËÅ…º$Ë$. 

 (h) ç³Væü™é§æþ$Ë  ºçßý$Ð@þ è̂þ @̄þ ËM>Ææÿ…º$¯@þMæü$ Æóÿçœ…ºVæü$. 

2. D“Mìü…¨ Ðé°ÌZ ¯éÍY…sìý° Ñyæþ©íÜ çÜ…«̈ M>ÆæÿÅÐ@þ¬Ë @̄þ$ çÜ*{™èþÐ@þ¬Ë Mæü @̄þ$Væü$×ýÐ@þ¬V> {ÐéÄ¶ý¬Ð@þ¬. 

  (a) ÝùÐ@þ¬yæþ™èþyæþ$  (b) ¯éM>§æþÆæÿ$Ð@þ# 

  (c) ïÜ™èþÐ@þ$Ã  (d) KÆøÈ 

 (e) ±Ð@þ# rMæüPÇÑ  (f) ´ëyðþ Væü…«§æþÆæÿ$Óyæþ$ 

 (g) _Væü$Æ>Mæü$  (h) Mæü‚ýMæü$rÐ@þ¬Ã 

3. D“Mìü…¨ Ðé°ÌZ ¯éË$W…sìý° çÜ…«̈ ó̂þíÜ çÜ*{™èþçÜíßý™èþÐ@þ¬V> {ÐéÄ¶ý¬Ð@þ¬. 

  (a) ¯éMö‚ýMæü$ @̄þ$+C ð̂þa (b) è̂þ*yæþMæü+E…yðþ @̄þ$ 



   

 

 

  (c) KçßZ+KçßZ  (d) Mæüyæþ$+G§æþ$Ææÿ$ 

 (e) ÐéÆæÿ$+´ùÆæÿ$  (f) FÆæÿ$+ç³ÌñýÏ 

 (g) ç³N ð̂þ @̄þ$+VæüË$Ð@þË$ (h) ç³rtÐ@þ¬+H @̄þ$Væü$ 

4. “Mìü…¨ ´ëÇ¿êíÙMæü ç³§éËÌZ I¨…sìý° Ýù§éçßýÆæÿ×ýÐ@þ¬V> ÑÐ@þÇ…ç³#Ð@þ¬. 

  (a) Eç³§æþ   (b) A°…§æþÅ“V>Ð@þ$ÅÐ@þ¬ 

  (c) B§óþÔ¶ýçÜÆæÿâ¶ýÐ@þ¬ (d) AÐ@þÅÄ¶ý$Ð@þ¬Ë$ 

 (e) °´ë™èþÐ@þ¬  (f) Ð@þ$™èþºÆæÿ¦Ð@þ¬ 

 (g) A†§óþÔ¶ýÐ@þ¬  (h) AÐ@þ$çßý§æþÆæÿ®Ð@þ¬ 

5. D“Mìü…¨Ðé°ÌZ Æðÿ…yìþ…sìý° ÑÐ@þÇ…ç³#Ð@þ¬ 

  (a) E™èþ¢Ð@þ$ç³#Ææÿ$çÙ  (b) Æðÿ…yæþ$ B§óþÔ¶ýçÜ…«§æþ$Ë$ 

  (c) Ð@þÅ«̈ MæüÆæÿ×ýÐ@þ¬  (d) Ýë…çÜP –†Mæüç³Ææÿ$çÙÐ@þ¬Ë 

Ñ¿êVæüÐ@þ¬ — B 

6. ™ðþË$Væü$ Íí³ ç³Ç×êÐ@þ$“MæüÐ@þ$Ð@þ¬ @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

7. {§éÑyæþ¿êçÙË ÑÕçÙt™èþ @̄þ$, A…§æþÍ ¿ôý§æþÐ@þ¬Ë @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 

8. “V>…¤Mæü ÐéÅÐ@þàÇMæü ¿êÚëÐé§æþÐ@þ¬Ë @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

9. ™ðþË$Væü$ÌZ° "AÆæÿ¦Ñgêq̄ @þ' ÑÔóýÚëË @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 

10. D“Mìü…¨Ðé°ÌZ ¯éÍY…sìýMìü çÜÐ@þ*«§é @̄þÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

  

(a) Ð@þ*…yæþÍMæü ¿êÚëç³ÇÔZ«§æþ @̄þ BÐ@þÔ¶ýÅMæü™èþ  

  (b) Ð@þÊË{§éÑyæþ¿êçÙË$ 

  (c) AÆæÿ¦çÜ…Móü™èþ…  

  (d) Ð@þÊÆæÿ¦̄ éÅË$ 

 (e) A @̄þ$¯éíÙMæüÅÐ@þ¬  

 (f) çÜÆæÿÓ¯éÐ@þ*Ë$ 

 (g) Ð@þÆæÿ~çÜÒ$MæüÆæÿ×ýÐ@þ¬  

 (h) AÐ@þÅÄ¶ý$Ð@þ¬Ë$ 

––––––––––– 



   

  

 (DSTEL32) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Telugu 

Paper – IV : LITERARY CRITICISM 

Time : Three hours                                                                                Maximum : 70 marks 

A°² {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý¬Ð@þ¬. 
 (5 × 14 = 70) 

1. (a) ¿êÆæÿ™èþ M>Ð@þÅ °ÆæÿÓ è̂þ¯@þ ÑÔóýçÙÐ@þ¬Ë @̄þ$ ™ðþË$ç³#Ð@þ¬. 

Ìôý§é 

 (b) M>Ð@þÅÐ@þ¬ @̄þ$ G°² Ñ«§éË$V> Ñ¿¶ýh…ç³Ð@þ è̂þ$a @̄þ$. AÑ Äôý$Ñ? 

2. (a) M>Ð@þÅÐ@þ¬ @̄þ ±†»Z«§æþ G…™èþÐ@þÆæÿMæü$ E…yæþÐ@þ è̂þ$a¯ø ÑÐ@þÇ…ç³#Ð@þ¬. 

Ìôý§é 

  (b) {´ë è̂þÅ ´ëÔ>a™èþÅ ¯érMæüÐ@þ¬Ë ¡Ææÿ$ ™ðþ @̄þ$²Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

3. (a) D“Mìü…¨Ðé°ÌZ Æðÿ…yìþ…sìýMìü Ëçœ¬ÐéÅQÅË$ {ÐéÄ¶ý¬Ð@þ¬. 
  (i) ÑÔ¶ýÓ¯é«§æþ$yæþ$ 
  (ii) A¿êÅçÜÐ@þ¬ 
  (iii) ÑÚë§é…™èþ Ææÿ*ç³MæüÐ@þ¬Ë$ 
  (iv) C†àçÜÐ@þ¬ 

 (b) D {Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü Ëçœ$$ ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$.  
  (i) A…MæüÐ@þ¬  
  (ii) @̄þÐ@þÆæÿçÜÐ@þ¬Ë$ 
  (iii) çÜ…^éÇ ¿êÐ@þÐ@þ¬Ë$ 
  (iv) @̄þÐ@þË 



   

   

4. (a) ÐéÅçÜÐ@þ¬ B«§æþ$°Mæü Ñgêq̄ @þ ÐéçßýMæü… A @̄þyé°² ÑÔ¶ý©MæüÇ… è̂þ$Ð@þ¬. 
Ìôý§é 

  (b) ÆæÿçÜÐ@þ¬ çÜçßý–§æþÄ¶ý¬° Ä¶ý$…§ðþr$Ï °çÙtOÐðþ$ Ä¶ý¬…yæþ$¯ø  ÑÐ@þÇ… è̂þ$Ð@þ¬. 

5. (a) D“Mìü…¨Ðé°ÌZ Æðÿ…yìþ…sìýMìü Ëçœ¬ÐéÅQÅË$ {ÐéÄ¶ý¬Ð@þ¬. 
  (i) M>Ððþ$yìþ 
  (ii) Ð@þ$Ð@þ$Ãr$yæþ$ 
  (iii) "MæüÑ™èþÓÐ@þ$…sôý Ýû…§æþÆ>Å°² ËÄ¶ý*™èþÃMæü…V> çÜ–íÙt… è̂þyæþ…' ÑÐ@þÇ…ç³#Ð@þ¬. 
  (iv) B™éÃ“Ô¶ýÄ¶ý$ M>Ð@þÅÐ@þ¬Ë$  

 (b) D“Mìü…¨Ðé°ÌZ Æðÿ…yìþ…sìýMìü Ëçœ¬ÐéÅQÅË$ {ÐéÄ¶ý¬Ð@þ¬. 

  (i) “Ô¶ýÐ@þÅM>Ð@þÅ ¿ôý§æþÐ@þ¬Ë$ 

  (ii) Ñ{ç³Ë…¿¶ý Ô¶ý–…V>ÆæÿÐ@þ¬ 

  (iii) Ô>…™èþÆæÿçÜ {´ëÐ@þ¬QÅ™èþ 

  (iv) í³ËÏË @̄þÐ@þËË$ 

—————— 



 

  

 

    (DAHIS 31) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

History  

Paper III –– HISTORY OF MODERN EUROPE (1789 – 1960 A.D.) 

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following: 

1. What were the factors or causes that led to Renaissance? 

ç³#¯@þÆæÿ$ijÐ@þ @̄þÐ@þ¬ @̄þMæü$ ™øyæþµyìþ @̄þ A…Ô¶ýÐ@þ¬Ë¯@þ$ õ³ÆöP @̄þ$Ð@þ¬. 

2. Estimate the effects of the Industrial Revolution. 

´ëÇ“Ô>Ñ$Mæü Ñç³ÏÐ@þ çœÍ™èþÐ@þ¬Ë @̄þ$ õ³ÆöP @̄þ$Ð@þ¬ 

3. Give an account of the Major Nation States at the beginning of the Modern Age in 
Europe. 

IÆø´ëÌZ B«§æþ$°Mæü Ä¶ý¬Væ  {´ëÆæÿ…¿¶ýÐ@þ¬ÌZ E§æþÂÑ…_¯@þ gê¡Ä¶ý$ Æ>fÅÐ@þ¬Ë @̄þ$ Væü*Ça ™ðþË$ç³#Ð@þ¬. 

4. Describe the features of the Vienna Congress settlement made in 1815. 

1815 ÌZ fÇW @̄þ ÑÄ¶ý$¯é² çÜÐ@þ*ÐóþÔ¶ýÐ@þ¬ Äñý¬MæüP Ë„æü×ýÐ@þ¬Ë¯@þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬.  

SECTION B — (3 × 14 = 42 marks) 

Answer any THREE of the following. 

5. What are the effects of the Reformation movement? 

Ð@þ$™ø§æþÅÐ@þ$Ð@þ¬ Äñý¬MæüP çœÍ™èþÐ@þ¬Ë @̄þ$ õ³ÆöP @̄þ$Ð@þ¬. 

6. Estimate Nepoleon I as an Administrator. 

ð̄þ´ùÍÄ¶ý$ Œ̄þ ç³Ç´ëË¯é Ñ«§é¯@þÐ@þ¬ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

7. Describe the part played by Mazini, Cavour and Gori baldhi in the unification of 

Italy. 

CrÎ HMîüMæüÆæÿ×ýÌZ Ð@þ*h±, M>Ð@þ#ÆŠÿ, V>Ç»êÍzË Äñý¬MæüP ´ë{™èþ @̄þ$ Ð@þÇ~… è̂þ$Ð@þ¬. 

8. Give an account of the achievements of Adolf Hitler. 

íßýrÏÆŠÿ Ýë«̈ …_ @̄þ çœ$ @̄þM>ÆæÿÅÐ@þ¬Ë @̄þ$ Væü*Ça ™ðþË$µÐ@þ¬. 

9. Describe the causes of the IInd World War. 



  

   

  

 

Æðÿ…yæþÐ@þ {ç³ç³… è̂þÄ¶ý¬§æþ® M>Ææÿ×êË @̄þ$ Ð@þÇ~… è̂þ$Ð@þ¬. 

10. Trace in brief the factors led to the outbreak of the Russian Revolution 1917. 

1917 ÆæÿÚëÅ Ñç³ÏÐ@þÐ@þ¬ fÆæÿ$Væü$rMæü$ ™øyæþµyìþ @̄þ ç³ÇíÜ¦™èþ$Ë @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following. 

11. Sale of Indeed Gances 

MæüÆæÿç³{™èþÐ@þ¬Ë AÐ@þ$ÃMæüÐ@þ¬ 

12. Oath of Tennis court 

sñý°²‹ÜMøÆæÿ$t {ç³Ð@þ*×ýÐ@þ¬ 

13. Atlantic Charter 

AsêÏ…sìýM> ^éÆæÿtÆŠÿ 

14. Kultur Kamp 

Mæü$Ë¢ÆŠÿ M>…‹³ 

15. Declaration of Human Rights. 

Ð@þ* @̄þÐ@þçßýMæü$PË {ç³Mæür @̄þ 

16. Karl Marx 1818 – 1883. 

M>ÆŠÿÏÐ@þ*ÆŠÿPüÞ 1818 – 1883. 

———————— 



   

  

 (DAHIS32) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

History  

Paper IV(E) — HISTORY OF MODERN ANDHRA 

Time : Three hours                                                                                Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

1. Sri Krishna Devaraya. 

 } Mæü–çÙ~ §óþÐèþÆ>Äæý$Ë$. 

2. Abul Hassan Tanisha. 

 Aº$ÌŒý çßýçÜ¯Œþ ™é±Úë. 

3. Vijnana Chandrika Mandali. 

 Ñgêq̄ èþ è̂þ…{¨M> Ðèþ$…yæþÍ. 

4. Rajahmundry college incident. 

 Æ>fÐèþ$…{yìþ MæüâêÔ>Ë çÜ…çœ$r¯èþ. 

SECTION B — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

5. Discuss the socio-economic and cultural conditions of the Qutub Shahi Dynasty.  

 Mæü$™èþ$»Œý ÚëïßýË M>Ë… ¯ésìý Ýë…íœ$Mæü, BÇ¦Mæü Ýë…çÜP –†Mæü ç³ÇíÜ¦™èþ$Ë¯èþ$ Væü*Ça è̂þÇa… è̂þ$Ðèþ$$. 

6. Explain the important reforms of Salar Jung I. 

 1 Ðèþ ÝëÌêÆŠÿ f…VŠü ç³Ç´ëË¯é çÜ…çÜPÆæÿ×ýË¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

7. Give an account of the up rising of 1857 in Andhra Pradesh. 

 B…{«§æþ{ç³§óþÔŒýÌZ 1857 ¯ésìý †Ææÿ$Væü$»êr$¯èþ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 



   

   

8. Write a note on Gurajada Apparoa. 

 Væü$Ææÿgêyæþ A´ëµÆ>Ðèþ#¯èþ$ Væü*Ça K ÐéÅçÜÐèþ$$ {ÐéÄæý$$Ðèþ$$. 

9. How the Andhra movement was successfully continued in 1953? 

 1953 ÌZ H Ñ«§æþ…V> B…{«§é E§æþÅÐèþ$… fÇW…§ø ÑÐèþÇ…ç³#Ðèþ$$. 

10. Explain the communist movement in Andhra. 

 B…{«§éÌZ MæüÐèþ$*Å°‹Ùt E§æþÅÐèþ$… fÇW è̄þ ¡Ææÿ$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following. 

11. (a) Raghupathi Venkata Ratnam Naidu. 

  Ææÿçœ$$ç³† Ððþ…Mæür Ææÿ™èþ²… ¯éÄæý$$yæþ$. 

 (b) Sir Arthur Cotton. 

  çÜÆŠÿ BÆæÿªÆŠÿ M>r Œ̄þ. 

 (c) Thomas Munro. 

  £éÐèþ$‹Ü Ðèþ${¯ø. 

 (d) Alluri Sitarama Raju. 

  AË*ÏÇ ïÜ™éÆ>Ðèþ$ Æ>k. 

 (e) J.V.P. Report. 

  gñý.Ñ.í³. Ç´ùÆŠÿt. 

–––––––––––––––– 



   

  

 (DAHIS 33) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

History  

Paper IV(E) — HISTORY OF USA (1776–1945 AD) 

Time : Three hours                                                                               Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

1. Describe the causes of American War of Independence. 

 AÐðþ$ÇM> ÝëÓ™èþ…{™èþ Äæý$$§é®°Mìü VæüË M>Ææÿ×êË è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

2. Review the salient features of U.S. Federal constitution. 

 AÐðþ$ÇMæü¯Œþ òœyæþÆæÿÌŒý Æ>gêÅ…Væü…ÌZ° Ðèþ$$QÅ A…Ô>Ë è̄þ$ çÜÒ$„ìü… è̂þ$Ðèþ$$. 

3. Andrew Jackson. 

 B…{yæþ* gêMæüÞ Œ̄þ. 

4. Explain the Big stick policy of Theodore Roosevelt. 

 ¤Äñý$yøÆŠÿ Ææÿ*gŒýÐðþÌŒýz ¼VŠü íÜtMŠü Ñ«§é¯èþ… ÑÐèþÇ… è̂þ$Ðèþ$$. 

SECTION B — (3 × 14 = 42 marks) 

Answer any THREE of the following. 

5. Give an estimate of the work of George Washington. 

 gêÇj ÐéíÙ…Væüt̄ Œþ Ýë«̈ …_ è̄þ ÑfÄæý*Ë¯èþ$ A… è̂þ¯éÐóþÄæý$$Ðèþ$$. 

6. What were the causes and results of the Spanish American War, 1898? 

 1898Ðèþ çÜ…Ðèþ™èþÞÆæÿÐèþ$$ÌZ fÇW è̄þ Ýëµ°‹Ù & AÐðþ$ÇMæü Œ̄þ Äæý$$§æþ®Ðèþ$$ Äñý$$MæüP M>Ææÿ×ýÐèþ$$Ë$ Ðèþ$ÇÄæý$$ çœÍ™èþÐèþ$$ 
ÌôýÑ? 



   

   

7. Describe the circumstance in which the U.S.A. entered First World War. 

 AÐðþ$ÇM> Ððþ$$§æþsìý {ç³ç³… è̂þ Äæý$$§æþ®Ðèþ$$ÌZ ´ëÌZȲ èþ$rMæü$ VæüË M>Ææÿ×êË è̄þ$ ÑÔóýÏíÙ… è̂þ$Ðèþ$$. 

8. What caused the great Depression? What were its results? 

 ¡{Ðèþ BÇ¦Mæü Ðèþ*…§æþÅÐèþ$$¯èþMæü$ VæüË M>Ææÿ×ýÐèþ$$Ë è̄þ$, ™èþ™èþµÍ™èþÐèþ$$Ë¯èþ$ ™ðþË$µÐèþ$$. 

9. Explain the foreign policy of Theodore Roosevelt. 

 ¤Äñý$yøÆŠÿ Ææÿ*gñýÌŒýz Ñ§óþÖ Ñ«§é¯èþÐèþ$$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

10. State the chief fractures of the Truman administration.  

 {sêÐèþ$¯Œþ ç³Ç´ëË è̄þÌZ° Ðèþ$$QÅ A…Ô>Ë è̄þ$ ç³ÇÖÍ… è̂þ$Ðèþ$$. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following. 

11. X, Y, Z Affair (1797). 

 X, Y, Z E§æþ…™èþÐèþ$$ (1797). 

12. Open Door Policy. 

 Kò³¯Œþ yøÆŠÿ Ñ«§é¯èþÐèþ$$. 

13. Dollar Diplomacy. 

 yéËÆŠÿ §ú™èþÅÐèþ$$. 

14. Perhal Harber. 

 òœÆæÿÌŒý àÆæÿ¾ÆŠÿ. 

15. Bostan Tea Party. 

 »ZçÜt̄ Œþ ™óþ±sìý Ñ…§æþ$. 

–––––––––––––––– 



   

  

 (DAHIS 34) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

History  

Paper IV (E) — INDIAN ARCH. WITH REFERENCE TO ANDHRA 

Time : Three hours                                                                               Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

1. Describe the significance of Alahabad inscription of Samudra Gupta. 

 çÜÐèþ$${§æþ Væü$ç³#¢° Äñý$$MæüP AËà»ê§Šþ Ô>çÜ è̄þÐèþ$$ Äñý$$MæüP {ç³«§é¯èþÅ™èþ¯èþ$ ™ðþË$ç³#Ðèþ$$.  

2. Explain the city planning of Indus Valley Sites. 

 íÜ…«§æþ$ ¯éVæüÇMæü™èþ ¯ésìý ¯èþVæüÆæÿ °Æ>Ã×ýÐèþ$$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

3. Write a note on Amaravati School of Art. 

 AÐèþ$Æ>Ðèþ† ÕËµMæüâæý {´ë«§é è̄þÅ™èþ¯èþ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

4. Describe Iron Age importance of Pre-Historic India. 

 ^éÇ{™èþMæü ç³NÆæÿÓ Äæý$$Væü… ¯ésìý C¯èþ$Ðèþ$$ {´ë«§é¯èþÅ™èþ¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 
 

SECTION B — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

5. Describe the significance of Archaeological sources in Andhra. 

 B…{«§æþ§óþÔèýÐèþ$$ÌZ Ë¿æýÅÐðþ$Ō èþ ç³#Æ>ÐèþçÜ$¢ B«§éÆ>Ë {´ë«§é¯èþÅ™èþ¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

6. Describe the Cave temple Architecture of Pallavas. 

 ç³ËÏÐèþ#Ë M>ËÐèþ$$ ¯ésìý §óþÐéËÄæý$ °Æ>Ã×ý çÜ…çÜP –† Væü*Ça {ÐéÄæý$$Ðèþ$$. 

7. Explain the cultural contributions of Kakatiyas to Andhra. 

 M>Mæü¡Äæý$$Ë$ B…{«§æþ§óþÔ>°Mìü ó̂þíÜ¯èþ Ýë…çÜP –† õÜÐèþË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 



   

   

8. Describe Architecture during Vijayanagara period. 

 ÑfÄæý$ ¯èþVæüÆæÿ Æ>kË M>Ë… ¯ésìý °Æ>Ã×êË è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

9. Explain the significance of Ajanta Culture. 

 Af…™é Ýë…çÜP –† Äñý$$MæüP {´ë«§é¯èþÅ™èþ¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

10. Describe Buddhist and Jain Architecture in Andhra Desa. 

 B…{«§æþ§óþÔèý…ÌZ° »o§æþ®, gñýŌ èþ °Æ>Ã×ýÐèþ$$Ë¯èþ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following questions. 

11. (a) Bhalcolithic age. 

  ÌZçßý Äæý$$VæüÐèþ$$ Æ>W. 

 (b) Three Lingas in Andhra. 

  B…{«§æþ§óþÔèý…ÌZ° {†Í…V>Ë° Ðóþsìý¯èþ…sêÆæÿ$?  

 (c) Nanaghat Inscription of Naganika. 

  ¯éV>°Mìü ¯é¯éçœ*sŒý Ô>çÜ¯èþÐèþ$$. 

 (d) Historical monuments.  

  ^éÇ{™èþMæü MæürtyæþÐèþ$$Ë$. 

 (e) Roman gold coins. 

  ÆøÐèþ$¯Œþ º…V>Ææÿ$ ¯é×ñýÐèþ$$Ë$. 

 (f) Hathigumpa caves. 

  çßý†Væü$…´ë Væü–àË$. 

–––––––––––––––– 


